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QUESTION 1

A user complains about poor database performance. You suspect that the user\\'s session is losing time waiting for
events to complete.

You want to verify this.

Which view reveals on what events a session has spent time waiting in the past?
A. V$SESSION_WAIT_CLASS

B. VSSYSTEM_EVENT

C. V$SESSION

D. V$SESSION_EVENT

E. VSSESSION_WAIT

Correct Answer: C

Reference: https://blogs.oracle.com/oraclemagazine/beginning-performance-tuning

QUESTION 2

TBS1 is a permanent user-defined tablespace created with Oracle Managed Files (OMF). Examine this command:

DROP TABLESPACE thsl;

Which is required to ensure that TBS1 is dropped and its datafiles are deleted from their file system?

A. The INCLUDING CONTENTS AND DATAFILES clause must be added to the command.

B. TBS1 must be placed in READ ONLY state.

C. Objects in TBS1 must not be in use when the command is executed.

D. TBS1 must not contain any temp files.

E. DB_CREATE_FILE_DEST must refer to an Oracle Automatic Storage Management (ASM)disk group.
Correct Answer: A

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_9004.htm

QUESTION 3

Which two are prerequisites for shrinking a table online?

Latest 120-072 Dumps | 120-072 Study Guide | 120-072 Braindumps 2/3


https://www.passapply.com/1z0-072.html
https://www.passapply.com/1z0-072.html
https://www.passapply.com/1z0-072.html

VCE & PDF https://lwww.passapply.com/1z0-072.html|
2024 Latest passapply 1Z0-072 PDF and VCE dumps Download
PassApply.com

A. It must have a unique key constraint.

B. It must not have any referential integrity constraints.

C. It must not have any DML triggers.

D. It must be in a tablespace that uses Automatic Segment Space Management (ASSM) .
E. It must have row movement enabled.

Correct Answer: AB

QUESTION 4

Which two are true about RETENTION GUARANTEE? (Choose two.)
A. It is a tablespace attribute.

B. It prevents FLASHBACK DATABASE operation failure.

C. It prevents out-of-space errors.

D. It prevents "Snapshot too old" errors.

E. It is a static parameter.

Correct Answer:. AB

QUESTION 5

Which two are true about the roles? (Choose two.)

A. All privileges and roles granted to a user are enabled by default when the user logs in.
B. The SET ROLE statement can be used once per session.

C. The SET ROLE statement enables as well as disables roles in a session.

D. A role must be disabled before it can be revoked from a user.

E. The ALTER USER statement must be used to set specific default roles for a user.
Correct Answer: AC

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_10004.htm
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